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2017 Oct New VMware 2V 0-602 Exam Dumps with PDF and VV CE Free Updated Today! Following are some new 2V 0-602
Questions: 1.]2017 New 2V 0-602 Exam Dumps (PDF & VCE) 275Q& As Download: https.//www.braindump2go.com/2v0-602.html
2.]2017 New 2V 0-602 Exam Questions & Answers Download:

https://drive.google.com/drive/folders/OB75b5xY LjSSNQnZDZHIK OU5xWm8?usp=sharing QUESTION 31What is required to
create a vSphere Distributed Switch? (Choose two.) A. A minimum of two physical uplinksisrequired.B. vSphere Enterprise
Pluslicensing isrequired.C. Thehost is added to avCenter Server.D. Login to the ESXi Host with the Root account. Answer:
AC QUESTION 32Wheat three steps are necessary to configure Virtual Volumes (vVOLS) on an ESXi hosts? (Choose three.) A.
Create and manage Protocol Endpoints.B. Create avirtual datastore.C. CreateaLUN.D. Register Storage Providers.E.

Format the volume with VMFS6. Answer: ABDEXxplanation:

https.//kb.vmware.com/selfservice/microsites/search.do?anguage=en US& cmd=displayK C& externalld=2113013 QUESTION 33A
VMware vSphere 6.x Administrator is creating an Alarm Action.What are three configurable actions? (Choose three.) A.

Shutdown GuestB. Restart GuestC. Send anotification emailD. Migrate VME. Run acommand Answer: ACEExplanation:
https://pubs.vmware.com/vsphere-4-esx-vcenter/index.jsp#com.vmware.vsphere.dcadmin.doc_41/vsp dc_admin_quide/working_wi
th_alarms/r_default_alarm_actions.html QUESTION 34What two new features are introduced with virtual machine compatibility
version 13? (Choose two.) A. IDE hot plug supportB. VMXNET 4C. Virtual Memory maximum 6128 GBD. Virtual NVMe
Answer: CDExplanation:

https://pubs.vmware.com/vsphere-65/index.jsp?topi c=%2Fcom.vmware.vspherevm admin.doc%2FGUID-789C3913-1053-4850-A
OF0-E29C3D32B6DA .html QUESTION 35Which three factors should an Administrator take into account when determining the
required VDP appliance size and number of appliances? (Choosethree.) A. retention periods (daily, weekly, monthly, yearly)B.
VMs guest OS family and versionC. typical changerateD. Number and type (database, file system) of VMs Answer: ACD
Explanation:

https:.//pubs.vmware.com/vsphere-60/topi ¢/com.vmware.| Chase/ PDF/vmware-data-protecti on-admini strati on-guide-60. pdf
QUESTION 36Which two statements are correct when licensing an ESXi 6.x host? (Choosetwo.) A.  ESXi licenses can be
assigned utilizing the ESXi host client.B.  Bulk licensing requires vSphere PowerCLI.C. Bulk licensing requires vSphere Auto
Deploy to be enabled.D. ESXi licenses can only be applied to ESXi hosts connected to a vCenter Server. Answer: BD QUESTION
37Which three IP addresses may be pinged by the Test Management Network feature in the ESXi hosts DCUI? (Choose three.) A.
NTP serverB. Secondary DNS serverC. DHCP serverD.  Default gatewayE.  Primary DNS server Answer: ADE QUESTION
38A vSphere Administrator notices that sometimes they receive poor network throughput for multiple port groups that reside on a
vSwitch with multiple physical uplinks (vmnics). The configuration on the ESXi host isidentical to other hosts that are working
properly in the same cluster.What should be done next? A.  Restart Management agents in ESXi Using Direct Console User
Interface (DCUI).B. Add additional port groupsto the vSwitch.C. Alter the failover order of the vmnics until abad vmnicis
found.D. Add additional resources to the virtual machines that are powered on. Answer: A QUESTION 39When managing search
queriesin VRealize Log Insight, what three actions can be performed? (Choose three.) A.  Share the Current QueryB. Load a
QueryC. Take a Snapshot of aQueryD. Pause the Current QueryE. Duplicate a Query Answer: ABC QUESTION 40A vSphere
Administrator notices that the newly deployed ESXi hosts cannot stay in a connected state in vCenter Server for more than 60
seconds at atime. The Administrator knows that the hardware isin good health and that the ESXi hypervisors are properly
configured.What is the source of the problem? A.  The hosts are not a part of a vSphere Distributed Switch.B.  Firewall rules that
have too many ports open.C. Firewall rules preventing hosts from sending heartbeats to vCenter Server.D.  The hosts do not have
persistent logging configured. Answer: CExplanation:

https:.//kb.vmware.com/selfservice/search.do?cmd=displayK C& docType=kc& docTypel D=DT_KB_1 1&externalld=1029919
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